i<n

[x cos( 'n )+ ysin( :)]—z:O

i=0

Fiirn =4 gilt

[xcos(04 )+ysm(04n)][xcos(l4 )+ysm(147t)][xcos(24—7t)+ysin(%)][xcos(34 )+ys1n(347[

Mit
cos(%)=cos(0°)=l sin(%)=sin(0°)=0
cos(l—n)=cos(45°)=Q sin(l—n) sin (45°)= ¢2
24 2 und 24
cos(Tn)=cos(9O°)=0 sin(TT[)=sin(90°)=
3y o __\/_5 3Ty o _Q
cos 1 )=cos(135°)= 5 sin ( 1 )=sin(135°)= 5

erhalten wir

[1x+0y]

S
=
|

Multiplizieren wir die beiden Klammern aus.

V2 42 V2 o2 | 1,1 1 1 5 15,1,
[2x+2y 2x+2y— 2x+2xy 2xy+2y— 2x+2y

Damit erhélt man fiirn =4

xyl—%x%r%yz]—zzo



Das Ergebnis der Formel.

(c) 2020 www.3d-meier.de



http://www.3d-meier.de/index.html

